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THEORY
.M” Questions Option - A Option- B Option - C Option - D

1 |What is By equal to? I/ 1 I/ I/ Iy None of these

2 |The magnitude of the base current is typically of the |uA. pA HA. MA mA, pA mA. mA
orderof ~ ascomparedte  forthe
emitter.

3 |For the RC - coupled amplifier. the drop in gainat  |C¢ C, G All of these
low frequencies is due to the increasing reactance of’

4 {Full form of UPS is - Undersized Uninterrupted  |Uneven Power |Unwanted Power

Power Supply |Power Supply [Supply Supply

5 |The content of'a 4 - bit register is initiatly 1101. The [1110. 011 0001. 1000 1101, 1011 1001. 1001
register is shifted 2 times to the right with the serial
input being 1011101. What is the content of the
register after each shift?

6 |Wien bridge oscillator can Jﬁmnm—:w generaie 1 KHz— | MHz |1 MHz - 10 MHz [10 MHz - 100MHz| 100 MHz - 150 MHz
frequencies in the range of: -
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7 The main characteristics of a Darlingion Amplifier are: fHigh input Low input High input Low input
- impedance. impedance. low |impedance. low jimpedance. low
high output output output output
impedance and |impedance and |impedance and |impedance and
high current low voltage high current high current
gain gain gain gain
8 A pointed soldering iron tip should be used: - For small For large multi-|When you want[None of these
connections layer to work very
conneclions slowly
9 In a Multivibrator: - Feedback Feedback When one All of these
between two  |employed is transistor is on
stages is 100% |posttive and other one
is oft
10 Electrician Solder contains: - Lead 70% & {Lead 38% & |Lead 37% &  |None of these
Tin 30% Tin 42% Tin 43%
11 The time period of [C 555 monostable multivibrator ~ J1.38 RC 1.1 RC 1.453 RC 13.8 RC
operation is: -
12 D/ A converters are generally: - Weighted Binary ladder |Ramp type All of these
resistor network
network
13 [T flipflop can is commonly used as: - A delay switch |A digital A dipital All of these
counter only counter and
frequency
divider
14 |In a UPS the solid state which normally transfers 4ms 30ms 48ms 30s
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15 |A microcontroller normally has which of the RAM ROM 64 KB and 64 |None of these
following devices on chip: - bytes

16 |8051 has  of on chip program memory and _ 8 KB and 4 KB and 64 KB and None of these
of on chip data memory. 64 bytes 128 bytes 64 bytes

17 {8051 has 16 bit timer/ counters. 2 4 8 3

18 |MOV A.#14H is the cxample of addressing [Immediaie Direct External Indirect
mode.

19 |Which is not a pointing device? Mouse Light pen Joystick Keyboard

20 |8052 microcontrollerhas  of mask 64K bytes 8K bytes 16 K bytes None of these
programmable ROM.

21 |Consider the following statement: A transducer 1 &4 1 &2 3 alone None of these
converts: 1. Mechanical energy into electrical energy
2. Mechanical displacement into electrical signal
3. One form of energy into another form of energy
4, Electrical energy into mechanical form

22 |Self-generating type transducers are __ B Active Passive Secondary Inverse
transducers.

23 |Semiconductors of strain gauge are made of: - Silicon Gold Silver Nickel

24 |If a transducer has an outpui impendence of 1 kQ and|Constant Constant Constani None of these
a load resistance of 1 Q it behave as a: - current source  |voltage source |impendence

source
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25 {Platinum is the commonly used metal for resistance  |[Itis Itis relatively |It has wide All of these
temperature detector (RTDs) because: - commercially  |stable under operating
available in various temperature
pure format  fenvironment  |range
reasonable rate |conditions
26 |To save atext in MS - Office shortcut key combination|Ctrl — Z Cul-U Cirl =S Cul = Al
is -
27  |Load cells employ: - Piezoeleciric  |Capacitor Mutual Strain gauge
crystal inductance
28 For surface temperature measurement one can use: - |Stain gauge Diaphragm RTD Thermocouple
29  |LVDT core is made up of a: - Non-magnetic [A solid Ferro- |Nickel iron All of these
material electrical hydrogen
material annealed
material in
order to

produce low
harmonics. low
null voltage
and high
sensitivity

30  |The dynamic characteristic of capacitive transducer are
similar to those of: -

Low pass filter

High pass filter

Notch filter

Band stop filter

31 DC to DC converter or chopper can: -

Only step down

Only step up

Step up or step

~None of these

with text.

DC voliage DC voltage down DC
voltage
32 language is used to create web pages along [HTLL HTTP HTML None of these
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33 is used to create presentation. MS Word Work Sheet MS Power None of these
Point
34 |Iudisplays text in all slides in a presentation. Outline Handouts Speaker notes  |None of these
35 |What is the default power point presentation extension |.ppix .doc pdf All of these
saved as: -
36 |In dc choppers. the waveforms for input and output Discontinuous. |Continuous. Both Both
voltages are respectively: - continuous discontinuous |continuocus discountinous
37  |A single phase voltage-source-square wave inverter  |Sinusoidal Rectanguiar  |Trapezoidal Triangular
feeds pure inductive load. the waveforms of the load
current will be: -
38 |DVD stands for - Datum Digital Digimetric None of these
Versatile Disk |Versatile Disk |Versatile Disk
39 is the shortcut key combination to print the |Cul —P Ctrl-D Alt-P Alt=Cul =P
data.
40 {Which is the most commonly used network card? Wili Bluetooth Ethernet None of these
network card
4] A network uses a star topology if: - Computer are  |All computer  fAll computers {Computers
arranged ina  |attachto a attach to a attach to
closed loop central point  |single long multiple
cable hierarchical
cables
42 |in IP addressing scheme. class used for multicasting is:|Class A Class B Class C Class D
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43 {The feawres of chopper drives are: - Smooth control [Smooth control |Fast response  |None of these
but stow but fast with smooth
response response control but less
efficient
44 |An example of a rencwable source of energy is: - Petrol Natural gas Biogas All of these
45 |A solar water heater cannot be used to get hot water  |A sunny day A cloudy day |A hot day A windy day
on: -
40 Solar cell are made of: - Conductors Insulators Semi- Super
conductors conductors
47 |The radiation present in sunlight which make a solar | Visible light Ultraviolet rays |Cosmic rays Infrared rays
cooker work are: - rays
48  [The value of solar constant is: - 1.4 kWh 1.4 kW/h 1.4 KW/m™ 1.4 kW/m®
49  |The main disadvantage of solar cells are that they Moving parts  |No moving Very expensive [None of these
have: - parts
50  |To change the page margin. click the Home Insert Design Page layout
tab.
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